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Sample Paper – 2012
Class – XII
Subject – Mathematics
1. Find gof and fog if f(x) =8x3and g(x) =x1/3.                                                                          

2. If sin{sin-11/5+cos-1x}=1 then find the value of x.

3. Find the value of sin-1(sin3[image: image2.png]


).

4. [image: image51.png]Find the value of x, if   [image: image4.png]


  = [image: image6.png]2x.



 .

5. Differentiate w.r.t x, if y=5u2-7 and u=1/x3.

6. Find the angle between the vectors [image: image8.png]T+



 and the vector[image: image10.png]c-pn



.        
7. Find the value of x for which x ([image: image12.png]


+[image: image14.png]


+[image: image16.png]


) is a unit vector.
8. Find the distance between the parallel planes x+y-z+4=0 and 2x+2y-2z+10=0.

9. Find the integral of [image: image18.png]


xx(1+logx).

10. Find the number of element in 3rd row if order of matrix is 5x4.

11. Show that the binary operation *: R[image: image20.png]


R given by a*b=a+4b2 is not associative and commutative.
12. Prove that, tan-1 [image: image22.png]


 cos-1([image: image24.png]


).
13. If A=[image: image26.png]


and B=[image: image28.png][1 3 -6]



, verify that (BA)’=A’B’.

14. By using properties of determinants, show that  [image: image30.png]a-b—c  2a 2a
26 b-c-a 2b
Py P




 = (a+b+c)3.
15. Find the intervals in which the function given by f(x) =sinx+cosx,[image: image32.png]0<x=<2m



 increasing or decreasing.

16. Three balls are drawn one By one without replacement from a bag containing 5 white and 4 green balls.  Find the probability distribution of the number of green balls drawn.
17. Evaluate the following [image: image34.png]1+ sinx)e®
1+ cosx)




dx.
18. Evaluate the definite integral [image: image36.png]7
f sin2xtan™(sinx)dx.
-




19. If (cosx)y=(siny)x, find [image: image38.png]


.
20. A ladder 5m, long is leaning against a wall. The bottom of the ladder is pulled along the ground away from the wall at the rate 2cm/s. How fast is its height on the wall decreasing when the foot of the ladder is decreasing 4m away from the wall?
21. Find the distance of the point (2, 3, 4) from the plane 3x+2y+2z=-5, measured parallel to the line[image: image40.png]


.
22. Show the differential equation of which x2-y2=c(x2+y2)2 is a solution, is (x3-2xy2) dx= (y3-3x2y) dy.
Evaluate the definite integral[image: image42.png]fing(nmx)



.
Show that the semi vertical angle of a cone of maximum volume and given slant height is tan-1 [image: image44.png]


.
Show that the lines  [image: image46.png]


 and  [image: image48.png]


  are coplanar. Also find the equation of plane containing them.
23. Find the Area of the region enclosed between the circles x2+y2=4 and (x-2)2+y2=4.
24. A, B and C shot to hit a target. If A hits the target 4 times in 5 trials; B hits it 3 times in 4 trials and C hits 2 times in 3 trials; what is the probability that the target is hit by at least 2 persons?
25. Find A-1, where A=[image: image50.png]


. Hence, solve the system of equations:
x+2y-3z=-4,   2x+3y+2z=2 and 3x-3y-4z=11.

26. If a young man rides his motorcycle at 25 kmph, he has to spend Rs. 2 per km on petrol, if he rides at a faster speed of 40 kmph, the petrol cost increases to Rs. 5 per km. He has Rs. 100 to spend on petrol and wishes to find what is the maximum distance he can travel within one hour, Express as L.P.P and solve it.
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